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ECONOMICS

Paper |
Time Allowed @ Three Hours Maximum Marks @ 300
INSTRUCTIONS

Each question is printed both in Hindi and in English.
Answers must be written in the medium specified in the
Admission Certificate issued to you, which must be
stated clearly on the cover of the answer-book in the
space provided for the purpose. No marks will be given
for the answers written tn a medium other than that
specified in the Admission Certificate.

Candidates should attempt Questions no. 1 and 5
which are compulsory, and any three of the remaining
questions selecting af least one guestion from each
Section.

The number of marks carried by each question is
indicated at the end of the question.
Graphs/illustrations, wherever reguired, may be done
in the answer-book [iself.

IMPORTANT : Whenever a question is being
attempted, all its parts/sub-parts must be attempted
contiguously. This means that before moving on to the
next question to be attempted, candidates must finish
attempting all parts/sub-parts of the previous question
attempted. This is to be strictly followed.

Pages left blank in the answer-book are to be
clearly struck out in ink. Any answers that follow
pages left blank may not be given credit.
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SECTION A

1. Answer the following in about 150 words each 1 12x5=60

{a) “Validity of Marshall's equi marginal utility
depends on the assumption of unitary elasticity of
the marginal utility curves of the commodities

under the budget.” Clearly explain this assertion.

(b) “For most developing nations fighting persistent
balance of payments crisis and inflationary crisis,
monetary contraction is a better option.” Do you

agree ?

{¢) Show how price output dedsion is taken by
duopolists, taking into account, their mutual
reaction. Under what condition will the duopolistic

market be in equilibrium ?

() “If firms produce differentiated products it 1s
neither possible to identify the industry nor
possible to draw its supply curve.” Discuss and

show how Chamberlin handles the problem,

(e} “Agriculture is not just a sector contributing a
small proportion of GDP, it is a way of life for the

Indians.” Discuss.
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Qs &
1. f=fafag & sW Sy, S 9ed% @ 9T 150 Yeer

g & 12x5=60

(F) ‘A % g9 W S frm s dw,
g ¥ Sifaa awgsll & W SwEiar S
H e d9 S AEd W R e 1 3g
FHYT H W FH HifeU |

(@) “sfywier fowmeia ol & fag s e
e e @ T wwer ¥ 99 @ OE,
Hifgs HEEd UF e Gweq @ 1 A
Heua § 7

(M shfEl F wWeR 9eRi @ owH w@d gy
T FINT % 98 fF9 T9R SHa-30R d94
fofr od € 1 frw ofiftefs § Sfisr @& 9w
e 1 v § @ ?

(M) “afg wi fadfed axgel o IEA w @
a IUA T G §E @ SR T @ IES
7T @k @ fFeaw | s Fifae s R
Fifsw f fh yeR IeRei 39 wHer | fged
g |

(3) "N "%t We IUR & TE B O H
F Al U & A N, 9 % fag g
Hiaa T & 1 = i |
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2. (a)

(b)

{c)

3. (a)

(b}

(c)

4. (a)

Mention ihe different components of supply of
money as specified by the Reserve Bank of India.

In what sense is the narrow money ‘narrow’ ?

Why is under-employment equilibrium possible in
Keynesian economics, but not possible in Classtical

economics ? Give reasons.

Is rent a surplus ? Give reasons in support of your
assertion and point out the difference between

‘rent’ and ‘quasi-rent’.

What is the difference between private and sacial
cost-benefit ? Which one of the two is more
relevant to government investment decision and

why 7

Explain why money supply remains unaffected if
budget deficit is met by borrowing from the
public,

Is there any significant difference between Value

added tax and Sales tax ? If so, what is that ?

“Industrial  development and environmental
degradation arc highly correlated.” If it is true
what should be, in your opinion, the policy options
for industrialization process vis-a-vis pollution

contro! ?

20

20

20

20

20

20

20
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2. (%) wrdr fiord &% g T gL 1 i & fafe
geF & Ieowd wifew | g s H odwivl wqE
gEHml g 7 20

(1) HeI-UIW gged F Fwew s o
Toyg & R wrE sdure H W AE 8 2
GE A 20

(T) T A U AT g 7 A9 faEw & gnd
i q% ST A T ug Cemrd-aE i oug
FAIFY | 20

3. () Frell @ g aod-an 8 99 R € 2
oY T TEn ¥y Gy % feu s s

SULE & i R ? 20

(1§) = e & afe @we @l WA OO0
o qu A s 2 @ ma A g fer @

il 20
(n) "o fapa ot ud o9 dafgd X § 4§ wEeEyl
g 2 A e, @ ug g ? 20

4. (%) “aimE foem vd wfewis g9 F agd S
wavEy g 0 ot ug el g, O ae faem ¥,
st hF Td s R § e i
¥ ifa fawes gn A 2 20
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{b) Discuss the role of multinationals in employment
creation, income generation and transfer of

technology. 20

{¢y For optimal alloeation of rescurces, which of the
options — market forces, planning exercise or a
combination of both — should be suitable for the

third world countries 7 Defend your stand. 20
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(W) TR gold, 379 Yo Td aaAis! & geaiaier §
FEAETE wTA A qfiw W s #1020

() WY & Fea aEeA & fou, gae fava &
vt &1 3fE ¥ W I ¢ — aEH A i,
frars st = g fafsa w7 2 20
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5. Answer the following in about 150 words each :

{a)

(b)

(e

(d)

{e)

(b)

(c)

SECTION B

“The assumption of fixed coefficient production
Tunction is at the root of Harrods instability.”
Discuss and explain whether giving up the
assumption really helps.

Derive Marshall’s welfare. cconomics from his
concept of consumer surplus after explaining
consumer’s surplus along with the underlying
assumplions.

What is prisoner’s dilemma ? How is it related to a
strietly dominantindustry ?

Show different stages of product life cycle. How do
the shortcomings of diffusion lag of new
technologies In recent years cause a time
compression of the ¢ycle ?

Distinguish between Currency Board Arrangement
and dollarisation. Why would a nation adopt one or
the other?

What do you mean by meney multiplier 7 What are
the factors that determine the wvalue of the
multiplier 7

Why does the point of intersection of IS and LM

curves coincide with two markets ?

What are the {iscal and monetary implications of

vertical IS and vertical LM curves 7

12x5=60

20

20

F-DTN-M-FDPA 8 [{Contd.]




5.

G @
frafafigg & 39 &fST, S 9ds @ 150 T

" 19%5-60

(F) “Fer TF ST e F U &8 F
I & U H 7 |7 e Sy, 3 weEE
f @1 g9 A @1 oRen weg Tgen ¢ |

(@) Orefe @ IYNR wud & SEYNOT Ud gHe
qrgarsti & s Hifu d9 IuNT awd &)
FURTT & IR W AN % seavER
yeform & frefug #if |

(M) ffsd sEem w1 € 7 9 U Iedd weE!
M ¥ frg R gdfug g 7

(%) 3Oe S =% & fafae sreensli & weie
HfSw | g & a8t § A3 awAfEd @ fawn
Tygdl & FHGT fhE YER I3 96 & 99g tal
T OBET W G 27

(5) w4918 =R Ug LeEdvd (Sedson) §
9T FINY | T Y FE Uy 5w @
AT & 7

(%) H&1 & § AT FA1 G § 7 IR O &
7o & e 9 9t T g ¢ 2

(@) 1S W& LM &% & ed fog o aTai & wefd
i we g ?

(TT) 3TW 1S W 3I<¥ LM TH & wifas ud s
A FA g 7

20

20

20
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7. (a)

(b)

{c)

8. f{a)

(b)

{c)

Discuss the impact of FDI on level of output and
employment of the host country. Why do we nced
some precaution in allowing FDI in retail sector in
india?

“Transaclion demand for money is interest rate
elastie.” Explain in relerence to the post Keynesian
theories of demand for meney.

Why arc trading blocks formed ? Explain the
welfare impact of such trading blecks for
non-member eountries.

Distinguish between backwash and spread effects
of Myrdal. How do they operate in backward

cconomies ?

“The solution of long term development needs of
India lies in promoting public-private partnership.”

Discuss,

Examine Kaleckt’s model of distribution. Do you

consider it a correct explanation of distribution ?
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(%) e e & gfe ¥ v faoxh few @
T T YN W W US4 a S9E
e HfT | R § gen &7 § v Rl
frawr o arRfa 3 & fou wEwE At @)
SEvaSa i ¢ ?

(@) ‘-3 WYE ¥ G F A TS W F [
¥ ofreer A 8 17 qgl H O % S-drea
fagrl & afelie ¥ ==Re SIfaw |

() fen =i w=& wE IR § 7 TR-geE < &

fow g7 2fen =Af® & Feaw TE & =R
ST |

(F) fiReel & deary @ ¥ER y9E ¥ 98 FT |
fraet srdomaeasti ¥ ¥ f6E YR &W L § 7

(@) “9Nd ® s fgEm STavahdsi @
FEYE o=l "R (Public-Private
Partnership) & Fh?\q'lﬂ:{ ¥ fafed % ) =Rl
FHIfey |

() Hed & faawor wiesd & R Ff |
Y TH A & faowel & GE A OEd
g 7
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3refeme
-9a 1
THT : i ge guifes : 300
I
yede g9 8=t 3k 39t el A BT &

yof & Jov 39 wegw # B o aifse Graer seea
IO FaN-g7 H fbar war & 3R 39 HIEEE o7 WE
Joohd FoR-giedT & §E g% ) Sifed [fde w@H )
frerr T TR | FRT-0F O) 3feeilaer wreH & AR
3= [ aregw ©f fore e 3RO I8 Jie & e
gog e 1 3R 5 3fard & | grat g1 4 g wos §
B~ OB FT DX o] et Jo) b Ja< aHfote |

g goT & fore g e sea s ad ke e & 1
JreREIf FET Jaea &, IR-giiamr 7 & a9 |
qeaqef - O INTead 8 [ 7 f fad) e @1 s @
@ & v 3w g & 9t rn/3e-un & IR ArR-ary
& | 5t sref ag & & ame we &1 FR) fraa & o
3 a1 @ gdf fed w7 & gt wm/aq-am & FW
AT & S0 | % 1T T BTG W IR0T B |
FR gRaer # et Big ge go! & el 4 we 7Y W
Fre d | @ g2 ge gl & am ford ge ITRI & Sid
7 fov se. owr 8 gHear &

Note :  English version of the Instructions is printed on
the front cover of this question paper.



